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No. of Quiestions/sreat i st : 180
Time ;2 Hows o ' Full Marks : 450
W : 29 ' [l : 450
Instruction :
ader «

This paper consists of Objective Type Questions and is divided into Two
Sections (I & IT) as under : o

A% - AR e T e & v <) wwet (1 & 1), S o affe
%a ﬁ ﬁ'ﬁﬁ t . - '

(a) Section-f : Consists of 120 Objective Type Questions on General
- Awareness, Meatal Ability, Comprehension and Subject Awareness in
some major subjects.
g1 : ¥ 120 agRweda TR TN 9, SRR I o0 39 TeE
foreat & o senfia

(&) Section-1II : Consists of 38 Objective Type Questions on (I} English
Language and (1) Hindi Language.
wva-11 ; § 30 sgfiwedia e (1) 2ide v o (L) R e 3 3 @
ﬁ % | P

The candidate is required to attempt as many questions as he/she can of
Section-1, and Questions on ANY ONE of the TWO Language papers (I)
English OR (I1) Hindi in Section-II.

vl A srifim 5 goe-1 % eSS v wve-1 % (1) 3t @
@y R} viver w0 1 & et o w3 i ormer it 4 :

(1} (Turn O‘pgr]
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Note : (i) Each question carries 3 (Three) marks. One mark will be deducted
for each incorrect answer. Zero mark will be awarded for each
unattempted question.
wyerE v 3 (d9) 3 w1} | o e 3w & forg ow o e
AT | SeE Jella T H WHTH I B |

(&) If more than one alternative answers seem (o be approximate to the
comrect answer, choose the closest one.

aﬁmﬁﬁéﬁﬁquﬂm%ﬁﬁmﬁ,ﬁﬁmﬁﬁm
g |

(iii) Each question is followed by Four alternative answers ( 1}, (2), (3) and

{4). One of these answers is correct. Select the correct and record it
against the relevant question in the ANSWER-SHEET by darkening
the circle with Ball Point Pen as per guidelines.
% S % AT AT I g T R (1), (2), (3) 9 (4) T
3 eyt 1 2 | @ YA o T A ud ? | it I g T IEE
i ) ge-afan A wemd v % A e IRE g9 (e)
o AT ETRUZ U g Flell Feh AT |

SECTION-I
gos-|

1. The AGMARK Act was passedin

(1) 1937 (2) 1939 (3) 194] (4) 1933
o st v g
(1) 1937 # (2) 19394 (3) 1941 & (4) 1953 %

(2) (Continued)
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2. Theoldest Indian language is

{1) Telugu (2} Hindi ~ (3) Tamil (4}- Punjabi
w8 g el
(1) e (2) fd - (3) afm (4) Somedt

3. Bywhatname s the Gangs known in Bangladesh 2
(1) Padma (2) Bhagirathi (3) Rupnarayan (4) Nubra
AR & 7 R A & o e @ 2
(1) wem (2) wnfieeft (3) EFIRTEY (4) e
4. NNPis equal to |

(1) GNP + depreciation (2) GNP - deprosiation
(3) GNP + exports (4) GNP - exports
T @ ww g #
(1) e+ 8 Q) Aed-wm
(3) NG + e (4) "< w1 i - Prafa
5.  'When did plmning first begin in India 7
(1) 1945 | (2) 1948 (3) 1951 (4) 1960
W & it () e w2
(1) 1945 § (7) 19ag™ {3) s @) 1960 ¥
(3)

Turn oyer)
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6. Thejudges of the Supreme Court are appointed by

(1) Chief Justice (2) President
(3) Prime Minister (4) Lok Sabha
serem =rer 3 =i 6 fafe & I ]

(1) g e g (2) wgafa g
(3) et g (4) i TG

7. Which State produces the largest quantity of Gold ?
(1) Himachal Pradesh (2) Assam
{3) Bihar (4) Karnataka

#-&mmﬁamﬁa‘mmmh

(1) ferere wem (2) Fmm
(3) form (4) FAIH
8. Which union territory has the highest literacy rate 7
(1) Delhi (2) Chandigarh
(3) Pondichery (4) Dadra and Nagar Haveli

e iy s & e 8 R d ?
(1) R (2) i
(3) WA (4) T @ AR F

(4} (Continued)
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Bones are mainly made up of

(1) Calcium and Phosphorus: - (2) Calcium and Stdphur
(3) Calcium and Magnesium (4} Calciom and Tron
efiyat wou v & wit Ot 8

(1) ¥ o W 2 (2) ¥ o wew &
(3) ¥Rm v At @ (4) &R wd s A

The Indian space programme began in the year

(1) 1961 (2) 1962 (3) 1965 (4) 1971
e sraftes s sty gon |

(1) 1961 & (2) 1962 ¥ (3) 1965 i (4) 1971 %
When was Lord Buddha born ?

(1) 586 BC (2) 1000 BC (3) 560 BC (4) 750 BC
WEM Y T W Fe g ?

(1) 586BC#  (2) 1060BCE  (3) 560BCH (4) 750 BC %
The book 'Gita Rahasya' was written by

(1) Bal Gangadhar Tilak (2) Rabindranath Tagore

(3) Jaydev 4 Mwﬂhﬂ‘mm

e ‘i e’ Rran

(1) a1 TreR foereh g (2) vl e e

(3) S mt (4) Fh g

£3) Twrn Over)
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13. The fundamental duties were added to our constitution for the first time in

(1) 1974 (2) 1975 (3} 1976 L (4) 1977
Tt | ¥ wifirs wetsr g mn v wuw 9§
(1) 1974 4 (2) 1975 % (3) 1976 (4) 1977 4

14, The National Emblem was adopted by the Government of India on

(1) January 26, 1950 (2) August 15, 1947
(3) August 15, 1950 (4) July 12, 1947
W@ TR g T St 79 T
(1) =it 26, 1950 %t (2) 3T 15, 1947
(3) #¥a 13, 1950 | (4) S 12, 1947 W
15. A watch reads 4:30. If the minute hand points East, in what direction will the
hour hand point ? _
(1) North (2) North-West
(3) South-East {4) North-East

o T i 4:30 5 € 1 9 i B pd e o) v 3 il B, ) e gd e
R = g Ul 7

(1) I (2) s-ufRm
(3) Thr-gd (4) sm-w

'16. One morning Rama was standing and her shadow fell at her left. In which
direction her face was ?
(1) East (2) West (3) North (4) South
e e O @) o v T v Wt v o < | T S fee R 7
(1) (2) Wem (3) 3 (4) <m

(6) (Continued)
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Aruna ranks 12th in a class of 46 students. What will be het rank _from the
last ? _ ,

1) 32 @35 (3) 34 (4) None of these

46 oAl B F 123 A WX 1 AR R P o g 7
(1) 32 @) 35 (3) 34 (4) V% & Rf o

A family consists of 2 husband and wife, their three sons and two
three wives of three sons. How many females are in this famity 7

15 @) 6 @7 (4) None of these

o e 9 el s 2 2 A, A 8 A e e
R 1 v o 3w foelt § 7

(15 (2) 6 37 (4) v & 9 7

In 1/2 hou, the long hand of a clock rotate ﬂun'ugh an angle of —
TN e R gl  F P g @)

(1) 90° (2) 120 (3) 75¢ (4) 1800
‘Bank' is related to Motiey', in the same way “Leansport’ ig related to

(1) Movement  (2) Road (3) Traffic (4) Goods
¥ wal i § g &, W v e a=hhg 2

(1) s @ (2) we & (3) wwemve & (4) w3
Which of the following is not a leap year ?

Fetafise 3 & SH-m sfu-adf 72 »
(1) 707 (2) 800 (3) 1200 4) 200D

e (Tirn Over)
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22.

1)

24,

25.

26.

7.

Find out the odd one from the following

(1) Indigo (2) Orange (3) Yellow (4) Pink
Breffga § A Rrew = adeed
(1) frem (2) Al (3) iem (4)y el

GO =132, SHE =49, then SOME will be ?
af GO =132, SHE =49 %, 9 SOME &m

(1) 62 (2) 64 (3) 56 {4) 58

1.12.91 is the first Sunday. Which is the fourth Tuesday of December 91 7
1.12.01 i wom TR & | R 91 & D8 wreEn B ¥l gm 7

(1) 171291 (2) 24.12.91 (3) 26.12.91 (4) 31.12.91

How many times from 4 pm to 10 pm the hands of a clock are al right angles ?
4 pm @ 10 pm aw T & w12 Rl an @l Foil § @A ¥ 7

.

(1) 9 (2) 1 (3) 10 (4) 6

Find the missing letter series of the following ?

RrethaRan 3 & i s Sof % w7
BMX, DNW, FOU, ?

(1) HPT (2) HQT (3} GPS (4) GQS

Find the missing word in place of sign (?)
Man : Biography : : Nation: ?

()Leader  (2) People (3) Nationality  (4) History
v R {?}%mﬂmmﬂmwwmﬁ

et » offeet : c T ?
(1) (2) @ (3) Wi (4) e

(8) (Continued) -
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If + is changed with —and 4 with 8, which one of the following is true ?

AR, ol - 3 4,8 8, ) ot T W-wm e d 7

29.

30.

31

(1) 6-8+4=1 2) 8-6+4=1
(3)4+8-2=6 (4) 4-8 +4=3

Five pens and ten pencils together cost Rs. 70 and the cost of a pen preater
than three times the cost of a pencil by 4. The cost of one pen is

(I)Rs. 10~ (2) Rs. 8 (3) Rs. 6 (4) Rs.4.50

uhe 91 a6 10 S W 5@ g & 70 ] 991 O OF 6 5, ﬁfﬂa’iﬂﬁ%mﬂ
TIR4FREE I mFwyad

(1) % 10 2w M) w6 . (&) %450

A person wants Rs. 5 and Rs, 10 note from the Bank. If he withdraw 50 notes
of Rs. 350, then number of notes of Rs. 10 is

T AR 9% W 5 591 99 10w it e e I‘#ﬁﬂtﬁl‘]fuiﬁﬂiﬁ
5nﬁhﬂmmtﬂwmﬁ:hzaﬁmt -

() 10 (2) 15 (3) 20 (4) 28

The sum of two mumbers i 11 and the sum of their reciprocal s 2. The

greater number Iz

2 el 4 11§ o 57 gt i o ) s
(1 7 26 (3) & @ 5

@) Turn Over
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32.

33,

3.

'A" says to 'B' "If you give me Rs. 900, [ shall be twice as rich as you". 'B’
replies "If you give me Rs. 100, I shali be twice as rich as you". The amount of
'Alis

(1)Rs. 1000 {(2) Rs. 1050 (3} Rs. 1900 (4) Rs. 1100

Al "B e § 1R I g 500 57 2 § 4t 3 qr@ 317 & g TAR W

B e R AR A gd 100 el 3T W AR I wm ¥ gR TR R IE @A

ERCRIE
(1) % 1000 (2) % 1050 {3) % 1960 (4) % 1160

In a Zoo, there are some Rats and Parrots. 1f their heads are 400 and lcgs are
1000, then number of Rats is

e R A g RN FI A8 | af 3 frdl 1 wEm 400 3w AR
s 10003, @ @l B TEn Y

(1) 90 (2) 100 (3) 80 (4) 110

(f -y )3 -l-(y* —51)3 +[z’ —x’)ﬁ
-y +(y=2) +{z %)

is

The lowest term of

- l":}‘)’l]l*[}'z"f)n*(f‘xi 1 T v
T (-0 + (22 s

(1) (x+y) (p+2) (2+3) (2) () + (el + 243

(3) 302 3

(10} ( Contined)
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The sum of hﬁﬂ--fﬂ is
x+1  x+3
foR =E .2;+5+x1+2 AR
x+1  x+3
- 4132417 X axl +138417
2L rreey W e
X 32 +13x 417 4343547
3) X +4x+3 ) X +4x+3
The value of J2+ :324- T; *...0
24424240 TIWHR
1) 3 (2) 2 (3) 4 4 23

For what value of ‘' the equation 4x?-3px+9=0 has real roots
{) p24 ) p<-4
(3) p24 and p<-4 @) p=t4

' Pt RO 4?3 pra9 w0 WARE R

(1) p24 @ ps-
(3) p24 3k p's-4 @) p=24
(1)

(Turn Over)



LTU/13728 (1)

38.

19,

40,

41.

The length of the hypotenuse of a right-angled triangle exceeds the length of
the base by 2 cm and exceeds twice the length of altitude by 1 cm. The length
of hypotenuse is

(1} 17 cm (2) 16 cm (3) 15¢m (4) 18 cm

ﬁ%ﬂmﬁwﬂgﬂ%ﬁﬁmwmﬁmﬁﬁz o o At & T
e v S 5 g A 120 o s R A ol et ©

(1) 17RH  (2) 168 3) 158 s (4) 18 & o

If a man walked 1 kmv/hr faster, he would have taken 10 minutes less o covera
distance of § km. The original speed of walking is '
(1) 4 km/hr (2) 5 km/hr

(3) 6km/hr (4) 4.5 km/hr

e st 2t s e B A 1 B /21 1 F A 5 o o T
ﬁiﬁloﬁﬁammmaﬂm,iﬁmzmﬁﬁmﬁmnﬁ%

(1) 4 fo Mo/ (2} 5 (e o fuel
(3) 6 B ho /5728 (4) 4.5 o Mo /T

ifsind +tanA=m, tan 4 -sinA=n then m? — 2 is equal to
af* gnd+tand=m, tanAd-sind=n a m-n &1 AT SUET &

(1y Jmn 2y m+n & o (@) ::i:
The value of 5'1"[5{}'+H]—cﬂs{;4[}°rﬁ] is

sin(5G° —1-5")-(:05.(40" JQ} AR

)0 oy 3 -! i

(12) {Continued)
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42, The compound interest on Rs. 24,000 compounded annually for 2 years at the

43.

44.

rate of 10% per annum is
- (1) Rs. 5,000 (2) Rs, 5,020
(3) Rs. 5,040 (4) Rs. 5,060

24,000 ¥7 F1 10% % = R w2 od § ol = w@ W 2
At = o of e g}

(1) 5,000 v53 (2) 5,020 &
(3) 5,040 T2 | (4) 5,060 =&
Plants adapted to survive in an environment with little water are known as
(1) Bryophytes (2) Pteridophytes
(3) Xerophytes - (4) Halophytes
@ﬁmmﬁﬂﬁmﬁmﬁﬁtﬁﬁwmi?-
(1) mirwRa ) TR
(3) i (4) EelEnE
Study of freshwater habitat is callled
(1) Ecology (2) Limnology
(3) Oceanography (4) Hydrology
are orl & R I M w et s o R s
(1) v A2). fericiialt
(3) aAfirkER (4) zEeEi]
T13)

(Turn Over)
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45.

46.

47,

Plants produce energy during
(1) Respiration (2) Photosynthesis
(3) Transpiration (4) Evaporation

Qi o 9 I o A & B d ¢

(1) =& (2) SEHm HEAYT
(3) SrodEE (@) T
Which one of the following phylum includes only marine animals 7
(1) Mollousca (2) Echinodermata
(3) Portfera (4} Cnidaria
Aeiyfm e F I S e AT W e 7
(1) wierest (2) FEEAS

(3) Wl (4) eehen
Which one of the following is a fish ?

(1) Startish (2) Silverfish

(3) Devilfish (4) Catfish

fe & F T woER § 7

(1) W 50 (2) P o

(3) 2 e (4) %z Rem

(14)

(Continved)
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Which of the following is not a method of water resource conservation ?

(1) Flood irrigation (2) Rainwater harvesting
(3) Dripimigation - (4) Johad irrigation
mﬁﬁﬁwmmﬂﬁﬁ?ﬂﬁ ?

(1) g férr @ wWwdw

) et (4) ez ferend
Which of the following is not semnda:)r pollutant 7

(1) Me 2) brmogen dipxide
(3) Sulphuric acid (4) Sulphur dioxide
R 3 Ao R sl 7

(1) i ) T
(3) weits dfi (4) vt s
Which of the following is not a pollutant free energy source ?
(1) Sun (2) Wood

{3) Wind . (4) Hydropower,
Breaftefiars ¥ & @+ squw 0w it a4 7

(i) o | (2) o=t

S (4) e

(Zurn Over)
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51.

52.

What is false about carbon dioxide regarding pollution ?
(1) 1t makes normal rain slightly acidic

(2) Portugal is the highest emitter of CO, in the werld
(3) It is a primary pollutant

(4) The frozen solid form of CO, isknown as 'Dry lce
el & we H e ereiTuTEs ¥ fva § o T 7
(1) e st it aw dver sweha == R R

(2) e & o At CO, Iefa w8

o) m@ETIRETEE

) cozwﬁwnx@aﬁam ‘yps . T R

Recently Delhi was threatened by an air poliution that affected the visibility
and breathing of the people. By which of the following was it caused ?

(1) Huge amount of household waste

2) Simog
(3) Excess usc of Air Conditioners

(4) Overflow of Sewer

Wﬂﬁﬁ@ﬁﬁﬂﬂwﬁmﬁiﬁﬁmﬁqﬂmqﬁaﬁﬁmm
umﬁagiam%ﬁﬁﬁ%uzﬁmﬁigmwgéﬂﬁ?

(1) e T 1 e
(2) Y§ IR

(3) AHEH 1 HAH IqEm
(4) werre T 61 JAFCATE
(16) (Continued)
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53. Which of the following countries is fw:mg the prnbte:m of negative growth

54.

rate of population ?

A Hungary
B, Ukrain
C. Somalia

Select the correct answer :

(DA,BandC (2) AandB (3) AandC (4) Only A
Prerferfsr 26t § & S T s gh 6 WHEN w1 AW R W Y 7
A B

B. I

C. Hwniewr

E@Eﬂﬁﬁﬁl
() A,BAdC  (2) A3hn @) AsthC (4) FaT A

Which of the following statement is not correct ?

(1) 12 years are taken by world population to reach frem 6 billion 1o 7 billion
(2) 38.15 crore population was added in Indian population between 2001-2011
(3) Population growth rate of India was decline during decade of 1911-1921
(4) The share of ST population was 8.6% in Indian population in 2011
Rt 7 8 #7 $om w9 7 2 7

(1) Forrm s w0t 6 m%?wiﬁi 12 a‘ﬁfﬁ*‘fﬁ
(2) v e 3 o 2001 ¥ 2011 F 99 38,15 g wrere v @
(3) 1911-1921 % T wng ) e

{4}:&2011ﬁﬂmﬁﬁm_ﬁﬂa’qﬁﬂmmﬂm36%m
(17)

(Turn Over}
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55. Which of the following was period of population nxpluslion inIndia?

7.

Rt 3 & 3 i 3 e Rieme 1 R 4 7
(1) 1901-1921 (2) 1921-1951  (3) 1951-1981  (4) 1981-2001

Whe had written Population when unchecked increases in a geometrical
ratio. Subsistence increases only in an arithmetical ratio' 7

(1) Warren S. Thompson (2) Frank W. Notestein
(3) Thomas Robert Malthus (4) Karl Marx

fra fora o7 “SFEE WE FEfE T & @ saia s o aed @ | fafg e
FFRE A Hwgm R 7

(1) aRA e 7o (2) S soegy wi
(3) U T ATedn (4) = e
Which of the following formula denotes natural growth of population 2
(1) Births-Deaths
(2) Births- Deaths + Inmigration-Outmigration
(3) Deaths—Births + Inmigration
(4) Bims—Demwmmﬁyﬁﬂn
frfifia 3 ¥ 9 g TR Sae 3y w leE § 7
(1) #7973
(2) - + S-S
(3) 4TI A
(4) F-HG T
(18) (Contintied)
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Which of the following is the highest populated metropolis of India ?

(1) Mumbai  (2) Delhi (3) Kolkata (4) Chemmai
Freftrim & & 9l wRa 1 waifie ST S 9ERE R 7

(1) =k (2) fegh (3) P ORC

Select the wrong statement

(1) The brightest planet is Venus

(2) Saturn has the longest day in the solar system
(3) Mars is known as Red planet

(4) The largest planet is J upiter

TR %Y A

(1) 5% usR Smhe o @

(2) doiza 3 7 w1-Rn R T R 2

(3) T = W e T ¥

(4) FEehy v wa g }

Select the incorrect statement

(1) Solar system is focated in thie Orion Arm
(2) Solar system formed about 6.6 billion years ago
(3) Exris is a dwarf planet

(4) Sky is seen black from the space
9e S TR

(1) ¥R wozm st ami & R

(2) i Toger T 6.6 Tarfrors o e
() fmwEdnmme

(4) sty & v e e vz d

(19) (Tairn Over)
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61.

62.

Time taken by Earth for one rotation on its axis 1s
(1} 23 hrs 56 minutes 4.09 seconds

(2) 23 hrs 56 minutes 8.09 seconds

(3) 23 hrs 54 minutes 4.09 seconds

(4) 23 hrs 54 minutes 8,09 seconds

9 A4 T g F e gedl gra e n aay @
(1) 23 w92 56 oz 4.09 &kvs

(2) 23 8 56 fire 8.09 ve

(3) 23 97 54 B 4,09 s

(4) 23 awg 54 firFe 8.09 4FvE

Select the correct order of the planets according 1o descending number of
their natural satcllites

(1) lupiter, Saturn, Uranus

(2) Jupiter, Satun, Neptune

{3) Sawurn, Jupiier, Uranus

{4) Jupiter, Uranus, Saturn

3] 7, s e el S e e 3 g wdt PR
(1) Zewfa, o, 3w

(2) geeta, 9, =

(3) T, TRER, 3R

(4) e, s, T

(20) (Continued)
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The solar system, recently discovered by NASA where life may have evolved
on three planets, is named as

(1) TRAPPIST-1e (2) TRAPPIST-1f
(3) TRAPPIST-ig © (4) TRAPPIST-]

Eﬁﬂﬁ'mmﬁﬁmﬁim,w-ﬁNﬁRWﬁ a8, 91 am R
T #

(1) giee-14 (2) 10w

(3) afie-150 4) -1

The air in contact with the Earth rises vcﬂic-aﬂj’ on heating in the form of
currents and transmits the heat of the atmosphere. This process is known as
(1 Advectim_ 2) Cmm:ﬂnn (3) Conduction {4) Ventilation
o & W 9y T S am % w9 § w3t # ok argdee & amme 9
syt et & 1 g e el &

(1) ¥famm . (2) g5 (3) T (4) v
Which of the following is the normal lapse rate at WHICH Mt-temperature
decreases with height in troposphere ?

(1} 6°C per 1000 meters (2) 6.5 °C per 1000 meters

(3) 7°C per 1000 meters (4) 7.5 °C per 1000 meters

R 8 & wmre v ar o & R o shviees & dnd & w1 e 3 fe
A R 7 :

(1) 6°C 9fd 1000 Hiex  (2) 65°CxR 1000 e
(3) 7°Csf 1000 e (4) 7.5°C R 1000 et
(211
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66.

67,

68.

69,

Which of the following regions of India receives rain by Western distur-
bances ? :

{1) North-West (2) South-West

(3) Western coast {4) Eastern coast

i & Freafiies weut d @ fa f ofind R dast @ 2 7
(1) Tw-vfem (2) gfem-afem

(3) afe 2 (4) wiwe

Which is not an ore ofimil ?

(1) Hematite (2) Limonite (3) Magnetite (4) Lignite
¥ o ity o T R 7

H¥ae  (2) R (3) W (4) forme

'‘Bailadilla’ is famous for the production of which of the following minerals ?
(1) Coal (2) Bauxite (3) Gold (4) Tron-ore
Ferfzen’ Srsferian whiel 3 & Fra % vone & R sfrg 2 7 |

(1) I (2) aame (3) ®F (4) wire 7Eh
'Colar' is famous for which of the following economic activities 7

(1) Iron-steel industry (2) Copper Mining

(3) Wheat Production (4) Gold Mining

Rrafetfge anide Bt o ® w-ﬁamm% ?

(1) che-Fem 38 ¥ fore (2) e FE0m & forg
{3}@%%%'1 (4) € T F 7Y
| (22) (Continued)
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72.

170113728 (1)

Match nuclear power project with their State and select right answer
(1) Tarzpur-Rajasthan (2) Rawabhata- Tamil Nadu

(3) Kalpakkam-Maharashtra ~ (4) Kakarapara-Gujarat

e Sl wetorTait o e T e T ol T v A

(1) vgR-TFer (2) TTE-afeTg
(3) TR @) mﬂm
‘Bombay Highis famous for
(1) Thermal Power (2) Hydel Power
() Petrolem 14)- Solar Pewer -
SRy
(1) anda o (2) it i
(3) Sferr (4) Wt
mmbfﬂwﬁmmmmmamfmdiﬂugdmm(ﬂsﬁfbaﬁ
(1) Iron ore | (2) Bauxite
(3) Manganese (4) Diamond ore
Refefes st 3 e g (s 1 0 e 4 7
(1) oty s (2) wRanz

- (3) Hoeftr "R s

(23)
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73. Rh factor is present in

T4.

Ta.

76.

(1) Blood (2) Urine (3) Lymph
s v Saer fm 3 i ven @
(1) @ (2) (3) feres

Rods and Cones are the parts of

(1) Nose (2) Ear (3) Eye
ffgm 9 Fr Few 3 % W E
(1) 7% (2) FA (3) e

The upper chambers of heart are called

(1) Auricles (2) Ventrictes (3) Arteries
7e@ % 90 el B Fed &

(1) sHitRRew (2) afehe (3) ua

Dile i produced by

(1) Liver (2) Bile duct (3} Pancreas
firet 7 JeTEH T8 7 g 2 R
(1) fead AR ENRLT (3) L EDIE

(4) Saliva

(4) =T

(4) Throat

(4) e

(4) Veins

(4) B

(4) Gall bladde

- (4) nTa =

((Continued)
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Which one of the following is the longest bone in the human body ?

(1) Femur (2) Tibia-fibula  (3) Humerus (4) Radius-ulna
e & Wl 3w e ot 0 7
(1) Bim (2) Rifen-Regenr  (3) qomw (4) Hexg-aren

The structural and functional unit of nervous systemis.

(1) Nephron ~ (2) Neuton 3) Dendron (4) Glomerulus
Y 73 & T T e 1 &) e 3 |

(1) 3 @) 7 3) S5 (4) wehiecr
Which one of the foltowing 15 responsible for bone and teeth formation ?

() ViaminA. (2 Vitaiin B (3) VitaminC 4). Vitamin D
P 3 it a1 e i = sfmedA e R 2

(HFfry @) RaBad () Rofmd (#) Rarfirr
Hemoglobin contajns

(1) Iron (2) Magnesiim  (3) Copper (4) Aluminium

g 3 fot 3 & s v # ¢

(1) s (2) Weffiram (3) #iw (%) “aieiy
(25)
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81. Smoking may cause cancer of

(1) Lung (2) Liver (3) Skin (4) Kidpey

AT @ 58 o 1 AT R ?
(1) ¥l (2) a5 (3) &= (4) T8
82. Which disease is diagnosed by widal test ?
(1) Cancer  (2) AIDS (3) Typhoid (4) Malaria
drarer ez i A 9 oA 3 FR AR R 7 _
(1) ¥ (2) & (3) 2HTEE (4) wetfen
§3. Fertilization of ovum with sperm in human takes place in
(1) Cervix (2) Vagina
(3) Fallopian Tube (4) Uterus
qmﬁmﬂﬂmﬂﬁﬂﬂﬁfq{ﬁrﬁl% "?
(1) wfiw (2) ¥
(3) HeAfiE S 4y @fﬂ
84, Inhuman gaseous exchange in lungumurs{hmugﬁ
(1) Alveoli (2) Air capillaries
(3) Bronchia (4) an:hiﬂl‘es
ﬁw#mﬁﬂﬁﬁmﬁmﬂW% -
(1) e (2) o e
(3) F= (4) Ff=RARE

(26) {Continued)
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Which one of the following is not an endocrine disorder ?

(1) Diabetes”  (2) Goitre (3) Gigantism (4) Scurvy
Pt 3 3 9 v s R v 7 |

W efA (2) mw @) ReeRe @) wdl
Reduced amount of hemoglobin in the blood leads to a disease known as
(1) Anemia (2) Leucopenia

3) Feuhucy:asis (4) Erythrocytosis

@ 3 @i ) 1 o 2 e R A 7

(1) R (2) =R

(3) TR (4) fsiendfia

Deﬁcimcy of which vitamjﬁ causes a disease, rickets ?

(1) VitaminC  (2) VitaminD (3) Vitamip o (4} Vitwnin E
5 e o oot & Az B & 2 |
(HRafrdt (2 ﬁaﬁqzﬁ (3) feafim g (4) Rrfim ¢

- Which of the following organ is affected by Malaria ?

(1) Heart . @ (3) Spleen (4) Kidney

ﬁw#mmm’wéﬁmmmﬁam;%h:

(i) v (2t Oabe— W) o
Tz

{Tury Qp@-}
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89.

50.

91.

The Food for Work programme has been restructured as the

(1) IDLAD (2) IRDP (3) MFAL (4) NREP
B H T i o e &

(1) s A gead, () FEAER, () CTELE,  (4) WIS,
The main objective of providing a 'support price’, 10 wheat 15 t0

{1} Check fall in price beyond a certain limit

(2) Protect the interest of the consumer

(3) Make procurement from wholesalers easy

(4) None of these

Y e e e w09 1 T6 O ]

(1) %o &2 & Frd § FEe ) st & e

(2) Fviree 3 fib % a ¥ o

(3) d =) & SR 8 @l & fer

(4) 78 & 8 T

Chowk and Tribhagi positions characterise which dance form

(1) Bharatnatyam (2) Kathakali (3) Manipuri (4) Odissi
< B g o -0 8 B

(1) e (2) FE (3) wfgd (4) AR

(26) (Continued)
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Siddhendra Yogi is associated with which dance form

(1) Odissi (2) Kuchipudi  (3) Kathak (4) Masipuri

R A ey - et g

(1) sHieeh (2) 3 (3) www ORL

Jatra theatre form belongs to which State

(1) Uttar Pradesh - (2) Odisha

(3) Madhya Pradesh {4) West Bengal

o i Q) Pt v g

(1) SRy (@ dfm

(3) 7o oy (4) fewm e

Ravanachhaya is associated with which State

(1} Gujarat (2) Andtira Pradesh

(3) Odisha (4) Rajasthan

T e W Hag d

(1) 1w (2) «iw¥e

(3) i (4) worearr

How many World Heritage sites are there in Indja ?

e # e A Wm em § 7

(1) 28 (2) 35 3) 32 )30
(29)
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96. The largest temple among the Khajuraho temples is

97.

YUY,

(1) Chausath-Yogini

(3) Vishvanath

(2) Brahma

(4) Kandariya Mahadev

G & wifed 3 wad fe i @
(1) - (2) #&n
(3) ey (4) weaien wEed

The authorof Dhruvaswamini is

(1) Suryakant Tripathi Nirala
(3) Jaishankar Prasad
gl & e B

(1) e Bl Faen

(3) TR S

I'he authur of “Truth is God' is
(1) Vivekananda

(3) Rabindranath Tagore

‘g e & S &

(2) Mahadevi Verma

(4) Sumitranandan Pant

(2) B. G Tilak

(4) M. K. Gandhi

(2) & o v
(4) THo %o TIIH

{ 30 (Continued)
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99. ‘Who wrote 'Var de vina-vadini var de,....
(1) Ramdhari Singh Dinskar  (2) Harivansh Rai Bachchan
(3) Suryakanta Tripathi Nirala ~ (4) Jaishankar Prasad
a3 omenRft Y, fe foran o
(1) vt fig fomam (2) shdy T T=
(3) g Brardt Pirren (4) i TR

100. Kanada was the founder of which philosophy

(1)Samkhya  (2) Nyaya (3) Mimamsa (4) Vaisesika

FoITe, T3 2o & sore o

(1) wrea (2) =m (3) e (4) fen
101. The philosophy of Chaitanya is

(1) Shuddhadvaita €2) Visistadvaita

(3) Achintya-biredsbhed (4) Advaita

o= &1 aﬁa 3

(1) geiga (2) Rfeia

(3) sira-¥gr (4)

(31)

(7 .E-'.i'n O'l"ﬁ'r)



17U/113/28 (1)

102. Who received the first Jnanapeeth Award
(1} Umashankar Joshi (2) Sumitranandan Pant
(3) Bishmu Dey (4) G Samkara Kurup
st S genr fed v
(1) SR AT (2) ghEE=A 9
(3) e 8 (4) , T FEI
103. Anckantavada is a basic concept of
(1) Buddhism  {2) Jainism (3) Sikhism (4) Vaisnavistm
serrmare T vl i whfer e @
Hagw @ (3) fora o7 (8 o
104. Satyartha-Prakash was first published from
(1) Mumbai (2) Kolkata (3) Chennai {4) Varanasi
Ve - S ST e S
(1) e o Few Q) (@) T
105. The International Headquarter of Theosaphical Society is at '

(1) Mumbal (2) New York (3) Adyar (4) New Delhi

fﬂﬁﬁﬁﬁﬁ@m@mmww%
(1) T (2) B Gy s () #EE

(32) (Continted)
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106. During the Rig. Vedic period which Aryan deity held the supreme position ?

(1) Varuna (2) Agni (3) Indra (4) Soma
R e & el % e S o vedh e 4 7
maw @ T @E (4 S

107. Which dynhsty in South India was famous for the construction of chariot
temples? '
(1) Chalukya . (2) Chola _ (3) Pallava (4) Pandya
e w3 o T 3 =il 3 falor 3 sffy w7
ORI 3) w5y (), qiE

108. Which of the following is in present day Gujarat 7
Oyl Q) Mosegess (3) Kalibangan  (4) Lothal
R 5 X @ o e o R & 7
(1) Zevar (2) AETEe) (3) Feflem (4) wite

109. Which of the following is the metallurgical wonder of the Gupta period ?

(1) Mehrauli Pillar (2) Mandsaur Piflae

(3) Kosarnbi Piltar (4) Sarpath Pillar

Fie % & sl iy arghi e 2 7

(1) ¥eleh oy (2) wreie Ty

(3) Hramd) s m_mm_a:_n;
(33)
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119. Which of the following is an ancient Indian Mathematician ?
(1)Charaka  (2) Panini (3) Aryabhatta  (4) Bharata
et & & 97 wrfe sty oftres € 7
(1) 5t (2) Trivrfl (3) o (4) W&
111, Which medieval ruler started the system of "Patta’ and ‘Kabulivafl ?
(1) Ttutmish (2) Mohammad bin Tughlaq
(3) Shershah ' ~ (4) Akbar
fFg weawIet e 4 ugr i ‘wafera’ ) sy A 6 6 7
(1) ' (2) HIERG TeFT ereh
(3) S | | (4) FFHA
112. In which battle did Mohammad Ghauri defeat Jaychand ?

(1) Battle of Tarain (1191A.D.)

(2) Battle of Tarain (1192 A.D.)
(3) Batile of Chandavar (1194 A.D.)

(4) Battle of Kannauj {1194 A. 1))

gﬁmﬁﬂimaﬁﬁaﬂmﬁmﬁiﬁm?
(1) 7o B GG (1191 %)
(2) @ ®1 gg (1192 %)
(3) S 1 5% (1194 &)
(4) s TG (1194 %)
(34) (Continued)
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113. Who established Diwan-e-Aamir-e-Kohi ?

(1) Firuz Shah Tughlsg (2) Mohammad bin Tughlag
(3) Allanddin Khalji (4) Ghiyasuddin Tughlag
fam-u-sriR--avd 5 v e o 7

(1) RRlrreg g | (2) Areewe, fi e
(3) Rl Raerl (4) frged gremn

114. Battle of Chanderi was fought between whom ?

(1) Akbar and Mabuarorsa Pratep.  (2) Babar and Rana Sanga

(3) Babarand Medini Rai (4) Shershah and Hurmayun

W % g T e ¥ a7

(1) IR iR wER S9N (2) = @ik Ton @im

@) ek AATE  (4) R o g
118, 'Hamzanama' relates to which of the foIIoiv.ing e °

(1) Music (2) Painting

(3) ReligiousLitetatare . (4) Sufi Philosophy

‘e R d __

(&g (2) FEward

(3) i e @ @) whaind

(35)

{(Turn Over)



17U/113/28 (1)

116. NizamuddinAuliya is related to which of the following Sufi Silsila ?

(1) Chishti Silsila {Z) Suharavardy Silsila
(3) Nagshbandi Silsila (4) Firdausi Silsila
Frmizdia shfer it 3 & o g e 4 33 9 7

(1) foet fererfirem (2) FEe] Rt
(3) eed feern (@) P e

LL7. Which Governor General introduced 'Doctrine of Lapse' 7

(1) Lord William Bentinck ~ (2) Lord Cornwallis

(3) Lord Dalhousie (4) Lord Wellesely
yiifeget e & ffY (Doctrine of Lapse) B et s 4 S0 w2
(1) wid faferam ¥fow (2) @i wiaem
(3) @i s (4) wiré detoret
118. Who is known as 'Grand Old Man of India’ 7
(1) Lokmanya Tilak (2) Mahatma Ganghi
(3) Dadabhai Nauroji (4) Govind Ranade
“URd % Figg A & AW ¥ Rl wm am k0
(1) S e (2). wETea i)
(3) a1 wd A (4) T

(36) | {Continued)
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119. Which of the following relates to the War of Leipizig ?

(1) Secret treaty of Bismarck  (2) System of Metternich

(3) Unification of Italy (4) Napoleon Bonaparte
Rrafirt 51 Tg w1 wvaey iy F & R 3 7
(ijﬁw&aﬁﬁﬂ#ﬁ’:ﬂ (2) deefrg € sEwen @
(3) Teeh ¥ o 3 (4) fra e 2

120. * The Praise of Folly" is written by
{i ) Michael Angelo - | (2) Erasmus
(3) Thomas Moore 4) Eanun-
5w (R 7 ot wef) Rl e d 7

(1) T T (2) R
(3) Ziwe (4)
{37)
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SECTION-II
L.anguage — English

Note : Four alternatives are given as possible answers to each question. Give the
correct choice as an answer :

Directions (Q. Nos, 121-124) : Select the word nearest in meaning {0 (he given

word.
121. Quote
(1) To repeat (2) To discuss (3) Torefuse (4) To explain
122. Tmposed
(1) Impatient (2) Immature
(3) Thrown (4) Thrust by force

123, Consent

(1} Casual (2} Agreement (3) Givlf: (4) Carry out
124. Tension
{1) Discussion ~ (2) Talkative (3) Strain (4) Pull
Directions (Q. Nos. 125-128) : Select the word opposite in meaning io the
given word.
125, Foolish
(1) Sane (2) Good (3) Dry (4) Sensible

(38) ' {Continued)
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126. Usual

(1) Extraordinary (2) Mad (3) Cunning (4) Clever
127, Complicated |

(1) Careless  (2) Simple (3) Strong (4) Tough
128. Encrgetic

(1) Lethargic (2} Busy (3) Excited T4 Bhein

Directions (Q. Nes. 128-132) : Select the correct meaning of the given idio-
matic expressions

129. Have an axe to grind :
(1) Tohave an ulterior motive*
(2) Happy
(3) Opt_imis: |
{4) Modem
130, Fire someone
(1) Kill someone
(2) Dismissing someone from a job
(3) Speed post
(4) Encourage someone

()
(Zurn Over)
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131. Drop someone a line
(1) Create distance (2) Draw margins
(3) To call someone (4) To write to somecne
132. Blow your top
(1} To give tips (2) To lose your temper
(3) Tosweat {(4) To change clothes

Directions (). Nos. 133-136) : Select the right word to fill in the blanks in the
given sentences :

133. For better or - — - he has decided to quit his job and go to live in Brazil.

(1) Best (2) Good (3) Warse ~ (4) Bitter

134. ler grandfather is 92 years oldbutheisasfitasa

(1) Fageot (2) Lion (3) Fat (4) Fiddle
135. He is going to have to face the soones oT later.
(1) Song (2) Music. | (3) Anger (4) Flute
136. 1 thanked him from the bottom of my — - for helping my daughter
when she was sick.
(1) Feelings (2) Soul (3) Wishes © (&) Heart

( 40) (Continued)
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Directions (Q. Nos, 137-140) : Select the correct Plursail of the given word ;

137. Tooth |

() Tooth's  (2) Teeth (3) Tooths (4) Teethes
138. Half

(1) Halfs (2) Haves (3) Halves (4) Half’s
139, Loaf

(1} Lnéfs : (2) Loafs (3) Loavs (4) Loaves

140. Phenomenon
(1) Phenomenons (2) Phenomena (3} Phenomientn's (4} Phenamena

Directions (Q. Nos. 141-144) : Select the part of speech of the underimed word
in the given sentences.

141. The thinnest notebook belonigs to Midbiu.

(1) Noun {B)-Advarb (3)- Adjective (4) Pronoun
142. She quickly decided to write het paper.
(1) Adjective  (2) Noun 3) Very (4) Adverb

143, Twilltellyou a story about a lion.

(DVeb  (2) Nown (3) Fiéposifon () Adjective

L) (Twrn Qver)
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144. How much money did they steal ?

(1) Determiner (2) Conjunction  (3) Preposition (4) Adverb
Directions (Q- Nos. 145-147) : Select the word which has been wmngly'smlr :
148, (1) Cautle (2) ﬁﬁltnninatien (3) Courage {4) Nervos
146. (1) Adjustment  (2) Opportunity (3} Horribel (4) Haven
147. (1) Dejected (2) Delirious (3) Delighted 4) Dm@ad

Directions (Q. Nos. 148-150) : Fill in the blanks with the correct word/group
of words :

148, 1 always keep — - money in my wallet for emergencies.’
(1) Sone (2) Few @) Litle ~ (4) Many
149. Twas studying Engligh ——yesterday.
(1) When you were ca]lix;g (2) When you called
(3) Asyou called | (4) While you called
159, 1 would fiy to Sydney if I —
(1) Has money | (2) Having the money

3 Have the money (4) Had the money |

(42) (Continued)
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Az : ﬁmuﬁ%m-mmmﬁaﬂn&i i =
T IW H YR

151. 7% 59 2 1 o iz ot o e

rsure & 4 e, e de |
I ferat & e A d 7
(1) g (2) Afeefien
(3) SR o (4) geliea
152, " & St SRt e, ot dne o e A R
LTS S |
(1) T (2) TR (3) gt (4) sy

133. st Sen foereh 6 7 vt g )
w-i%, TR 3, R T g

(1) Forerdl (2) = (3) ®Wm OE
154. a1 aféw fae g, w0 woanda |
e R g 4, g e w11
ot fermef #
(1) =ik {2y e (3w ) gl
- (43)
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155, et weashn &1 @Rm AR R 2

(1) woen B (2) wrEETE TR

(3) P (4) TR T
156, ‘e 1 R’ s - 0 dmm A 7

(1) 3preie (2) st @) T
157, ‘Wt 1 e AR 7

()P () g T (3) weRd
158. ‘Eufira’ fewhl wa d 7

(1) gt (2) TR EE  (3) v
159. ‘wft 4} ) FEl FAEE B W 7

(1) ST (2) WgE® (3) I
im.mma%-muﬁ%ma&ﬁGm%mmi?

() wisse  (2) AR (3) &fewra

151,‘413%’1@%%&#1%?

(1) ST Fyar(2) TEHTTE A (3) FTAR GG

(44)

(4) T

(4) ,m T
(4) e

(4) smargr @i |
(4) Semen e

(4) gftw=g

(Contintied)



162. Pt 3 & fem svem v =T FeafeR wr 7

O () fdedged  (3) o T
1&m§%mwaﬁﬁmwm?

(1) T (2) v (3) Aanh
4. e mrr frasassR 2 2

(1) SRR FE(2) R EE  (3) Wi
165. "R’ wg %1 vt 3 9Py

(1) s (2) e (3) =
166. ‘3@ 3 o’ — ave 3 W ¥R W A

(1) v (2) 7ag (3) s

17U7113/28 (1)

(4) w¥wrs

(4) hidgwanit

(4) warw

(4) TRar

(4) Pe

167. 3t &k & grr s e B e ¥y o e T 7

(1) = (2) wf¥s (3) wigen:
168. ‘g’ w1 volward 3
(1) v et + uafh ) st gty
(3) ¥ % wawelt vaft 4) *&
(45.)
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169, 'S’ o e femm w8 7

(1) ¥R (2) vt (3) @ (4) wm
170. e fmdr el Fima e TR e

(1) §d =R (2) I T (3) Rt - (4) 3 =
171, ‘g’ 1 w1 fome g

OErw QOFGE (3) M+ F @ R+
172, ‘aramm’ w T e e e R

(1) 3/ + €9 (2) A+ T () W+ TE (4) 3T + 3

173. ¥Eud Wafé A9 sga &9 SEve |
A~ 3R Tt R - AR e )

ke s e e s 7
(1) o (2) ¥ (3) WEHF (4) o=@

174, 38 1l AR FIY &5 G 9t T T |
7l gan ¥ WK & Hian g3 I W 1)

F7eg Gferal § STeThT AR
(1) S @) foem () T® - (4 lmm

(46) {Continued)



175, ‘Feie aia ateh’ eietfs =1 wt ok wy 2 7

(1) foreie (2) et (3) Fwa e
1?6.%#&@*@“@3&@“

(1) = w72 o {2) IS

(3) Bt ab= waen @) e
177. Rsfedn v w w1 w59 $ifrg

s @) v (3) v

178, &8 & Ty N @R E
(1) o= (2).%: (3) 7
179. “frewar’ & 3 w1 v 3

180. S0 sl o it el e o 7
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